Page 1/ 77 DECOMPOSITION DES NOMBRES DECIMAUX. - https://uww.toupty.con

CM2

Exercice 1

Compléter avec un nombre décimal :

1 1
Pl. 7TX —+8X10+8Xx —=........

10 100

1
2. 5x1004+1Xx —4+8x1000=....

100

3. 6 3% 1% 1000=
>3 0 X T000 TP X 100 TS -
Exercice 2

Compléter avec un nombre décimal :

1. 7x 104+ 7 x +2x 1000 =

1000
1
»2. 3><1—O+6><1+6><1000: ........

1
3. 9X —+4x14+5x10=.........

100

Exercice 3

Compléter avec un nombre décimal :

»1. 2x 10049 x

1000

1
2. 1x — _
>2- x0T T 1000 TV 10

1
3. 2x100+1x —+2x1=
>3 X WUH X Tgp T e

Exercice 4

Compléter avec un nombre décimal :

1
Pl. 4x —4+7x10004+1x100=.....
100+ *

1
2. Ax1000+4x —+3x1=
>2. 2 x MRESETIIRS

1
3. O X —+4x14+1x10=..........

100

Exercice 5

Compléter avec un nombre décimal :

1
>1. 3XE+5X1000+9X

2. 1
»2. 8 X 0—|—5><1000 0

3. 5x 1000+ 8 x

1000

1 1
+9x10=............. 4. 3 X —+4x1000+6 x —

1
IX —=.....

1
+4x —=.......

4. 8 X — 46 X

100
1

1000 100

»6. 7 X

1
»6. 4x10+6x1+9 _
X ADF O L9 X 1000

100 10

1
AX — 44 x —+1x10=
»6 ><1000+ ><100+ x 10

»4. 3x1000+7x10+8x 1=

»5. 5 x 10041 x

1000

1
»6. 2x 10042 x —+3 x 1000 =

»4. 7 X

1000

»6. 4 x 1000+ 1 x

Année 2020/2021

1
5. 9x —+1x1000+4x10=.......

1
+T7TX —+8x10=.......

4. 5x100+8x14+2x10=...........

1
»5. 3><10+5><1—0+5><100: ..........

5. 5Xx14+8x100+4x1000=.........
........ 1

+5x1000=.....

Top T3 X 100=......

+4x1000+8x1=.......
»5. 8 x1004+2x10004+3 x1=.........
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